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== olad SkEA
HT- 55 5T T
e A o . . _ .
= input() & 25 &= SHA A Y 2 oput = dnput()
o 1L = ! = = —
E_:lE I:'IZI-E HE C|>=IE_=II %I-_J'\_ >>> 1nput
: S S 'AFEARE Q13
+ input() < 00 4 | Q3 RS
HAEZ U2 A 0lQ
-1 o= | AAO

>»> name = input("0|=: ")
0= »>2 O]=z=tt

>>> name

0]z

>>> age = input("LtO|: ™)
LtOl: >? 28

>>> age

158"
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print() B 22 A2 SN 2SS >>> print(“Hello world")
E=I'5|.h H= =2 ck : mOLLE 1 o .
= - =2 89T >>> print("2HA 1 THO|H™)

cHE D IO

>»> 1 = 123

>>» print(1i)

123

»»> = 1,23
>>» print(f)

1.23

»>»> s = "SuanLab”
>>» print(s)
SuanLab

>>> 1 = ["One”, "Two", "Three"]
>>» print(1l)
[ 'One’, "Two', 'Three']
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— ‘* e~
HE S5 &+ TmE
. pI‘]Ilt() -<5I;I|-_JI\_ LHO'”kl >>> print(“"SuanLab” ":" "Suan” "Computer” "Laboratory™)
[::KfCﬂ > a4 SuanLab'SuanCﬂmputﬁrkaEG:atnPE ) o )
=AMl E =2 = >>> print(“"SuanLab”+":"+"Suan”+"Computer”+"Laboratory™)
SuanLab.SuanCﬂmputerLabﬁratnPy
>>> print(“SuanLab”, ":", "Suan”, "Computer”, "Laboratory”)

SuanLab : Suan Computer Laboratory

>»> for 1 in range(2, 10):
for j in range(1, 1@):
print(“{e}x{1}={2}".format(i, j, 1*j), end=" ")
print()

2X1=2 2X2=4 2X3=6 2X4=8 2X5=10 2xX6=12 2X7=14 2X8=16 2X9=18
3X1=3 3X2=6 3X3=9 3X4=12 3X5=15 3X6=18 3X7=21 3XB8=24 3X9=27
AX1=4 AX2=8 AX3=12 AX4=16 4AX5=20 4AXb6=24 AX7=28 AX8=32 4X9=36
5X1=5 5X2=10 5X3=15 5X4=20 5X5=25 5X6=30 5X7=35 5X8=40 5X9=45
6X1=6 6X2=12 6X3=18 6X4=24 6X5=30 6X6=36 O6X/=42 6XE=48 6X9=54
IX1=7 7X2=14 7¥3=21 7XA=28 7X5=35 7X6=42 7X7=49 7X8=56 7X9=63
8X1=8 BX2=16 BX3=24 8X4=32 BX5=40 B8X6=48 8X/7/=56 8X8=64 8Xx9=72
Ox1=9 9x2=18 9x3=27 9X4d=36 9X5=45 9X6=54 9X/=63 9xB8=72 9x9=81
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Lab. M 2= S 2t 222 Het [T00E

A—l 2 E =) g § L A >>> celsius =
n F= (C*1.8) + 32 »>»> fahrenheit =

>»>> print("sld| Z5%: ", fahrenheit)
SH ==: 8.6
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Lab. 772 32| ofLte| Th= =520t Al tto}v] T

M0 2EE BN 2 StS|= LAl o> 1=

n F:(C*1.8)+32 >>> for j in range(1, 10):
- print( )

8X1=8

8x2=16
8x3=24
8xd=32
8x5=4e
8X6=48
8X7=56
8xX8=64
8X9=72
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readline()
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olo|M =22 n}

write()
ritelines()
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(append)
" AT|/M7| BE
t BIAE BE (7|27
HAE DjYUS X2
b O|F 2E (O U= X
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>»» f = Gpen{"_'gé.
L

>>> f = open(" U
>»> f.close()
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>>> f = open("IHZ . txt", 'w')
>>> f.write("Hello Python™)

12

>>> f.close()

O MYt - HEE

mEF EEE
Hello Python

M A(0)

27V =28

Windov

O X

Ln 1, C 100%
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S AE T} M) i

. . — 1 . — — marLC| []] ]
= writelines() 2= 0| &05}0] list= LI &0 >>> F = open("uf=.txt®, fw')
>>> list = ["One”, "Two", "Three"]
M| - .
e »>>> f.writelines(list)

»>»> f.close()

U oYt - MR - bx
oYFE EIE MO 2V =2
OneTwoThree

Windov Ln 1, C 100%
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)

>>> f = open("U}Z . txt", 'w’)
>>> for i in range(2, 10):
for j in range(1, 10):

else:
f.write("\n")

>>>» f.close()

5=
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write()
ritelines()
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>>> £ = open("IHE . txt", ‘w')
>>> input = input("0|S: )

015: »>2 0]==Ch
>>> f.write(input)
3

>>> f.close()

”j O tut - 2% -
or EEE Ao 27V =2

0|40t

Windov Ln 1, C 100%

O

*
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read()

—3 » readline()
readlines()
ot ot =gt
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HI A 1O = —
A E StHO| &3 readline() TOE
O] 0= - HEZ e i >>> £ = open("O0H=2DF.txt", 'r")

oeR BEE MA@ 27V E2w L3P WhilE.TFUE: .

23 oAl Ol2T DEE line = f.readline()

stoHo| E5tAF R2|Lt2t THA| if not line: break

T2 ofdd EPEF”H print(line)

CHSEALE ChSte= Zo| 2350
SHED UFA0| 0120 Y=
ot=el0| 2FotAt 22|l G|
E==t oEe] =hed st
CHEFALEY CHEt=Z 20| 2HGHA|
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J=

A E 0i 911 3FHO| == readlines|() W

CODE
] =7t - 2 - o X >>> f = open("OH=2It.txt", 'r")
mYE BHEE MAO) 27V Lou >>> lines = f.readlines()
ZFS20 WS Alg| D20 SEE >>» for line in lines:
StEE0| E25tAL 22|uta THo| print(line)
E%EEPiJHEIiﬁf”*F
CHSHALE CHSte = 0| EH5HA|

ﬂH]E

SH=1f BHSEAMO] 020 2=
SH=HE0| E6tAF 22|Li2t TR
2= AFEE] e 2kA

CHERALEE CHEt== 20| 2FSHM|
>>> f.close()

Windov Ln4, C 100%
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Bl A E nf 911 2FHO| =3 read)) ot

o) =7kt - HEF - o X >>> f = open("OH=Jt.txt", 'r")

_l.DIIrFJ J—I_j:ﬂlrEJ -‘lw'l"l"ll"[::l E-?lll-"-"'] E%:ép o data = ‘F.F"EEIE]I{::]

=S HEAl0] Ol21 BEE >>» print(data)

StLE0| 2R3tAr f2|utah T Zoll=d =MD O 5=
woo ST Aead SH=H0| 225l 22|Lt2t Bl
EE iEes 2ol sasi =25} AF2| BheizH

CHERALEE CHEt== 20| 2FSHM|
>>> f.close()

Windov Ln4, C 100%
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WItNnT™— —

= 2 IO = open() 2= E 10, close() &
T2 OOt o= €2 AIs2 = X

» withie= 0| 86H with 25 L0 A Tt
= S0 HOILIH DS B3

- OOo|E XM2| Z21 2| Y (Data Processing Programming) - 06 & &1} ==

>>> £ = open("IHE . txt", ‘w')
>>> f.write("Hello Python™)

12
>»> T.close()

¥

>>> with open("U}Z . txt", 'w') as f:
f.write("Hello Python")
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CODE
3LL}O X| 7lol.2 ol CI2 Ol X| 1T >>> input = open(“image.png”, "rb")
- gll_ |__ILO| '_E-LLI-EE E-IO-IA-I |-'_ Ol = -LL|- >>> output = open(“image2.png”, "wb")
EE—7| (—|A|') >>> while True:

inFp = input.read(1)
if not inFp: break
output.write(inFp)

>>> input.close()

» >>> output.close()

image.png image2.png
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C|2 & 2] A4/

= LR EC[QMAUS CHF= CHASt &2
K| &S Ot= shutil2t os EPO|EE1 C|
= mkdir(): |2 E2| 44
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555
>33
>3
>33
>33
>3

import os
import shutil

0s

05

.mkdir( test’)
0S.
.mkdir( test/2")
0s.

mkdir( test/1")

mkdir( test/3")

“suanlab
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CIMED] X o FA [T0E

= ch IEA >>> import shutil
S utﬂCOPYO B |- >>> shutil.copy('image.png’, ‘"image_copy.png’)
. shutﬂ.copytree(): CIMES| MM SAF “image_copy.png’
>>> shutil.copytree('C:/Windows/debug/’, 'debug’)
"debug’
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Cl2 2| 9l op2 ol

» isdir(): CIH E2| EXY =+
= isfile(): L2 Z=XHf =0l

= exists(): C|HE 2| /I Y E=XH =2
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>»>> import os.path
>»> os.path.isdir( 'C:\\Windows\\Fonts")

True
>>> os.path.isfile( C:\\Windows\\Fonts\\times.ttf")

True
>>> os.path.exists( ' C:\\Windows\\Fonts")

True
>>> os.path.exists( C:\\Windows\\Fonts\\times.ttf")

True
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ClHE2 S8 27| (3

_ i >»>> import o5
CXivvalk() >>> for dir _name, dir list, file names in os.walk( 'C:\\Windows\\Fonts'):
[laﬂf§j3|£aj§. - - m
— =

. for file name in file names:
H7| . print(os.path.join(dir name, file name))

: \Windows\Fonts\8514fix.fon

s \Windows\Fonts\8514fixe.fon
: \Windows\Fonts\8514fixg.fon
s \Windows\Fonts\8514fixr.fon
s \Windows\Fonts\8514fixt.fon
: \Windows\Fonts\85140em. fon

: \Windows\Fonts\85140eme.fon
: \Windows\Fonts\8514o0emg.fon
: \Windows\Fonts\85140emr.fon
s \Windows\Fonts\85140emt.fon
: \Windows\Fonts\8514sys.fon

i O s O e Y e Y T Y Y T T T i T
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CIHED] 3 ot A

= os.remove(): IF Y A1 K| >>> Amport os .
>>> os.remove( image_copy.png’)
= shutil.rmtree(): C|2 E2| 0| 2= I}/ >>> os.remove( image2.png’)

|2l £ 3| AR

>>> shutil.rmtree( test’)

- OOo|E XM2| Z21 2| Y (Data Processing Programming) - 06 & &1} == E" suanlab 32



ut@ 37

- Olo 3J7|= H = C} >»>> import os.path
OS. pa&getsmeo = = HIO|E H >»>> os.path.getsize('image.png')
[l=
Tl 7729
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i el e ==
ot =
1. OFX Tl glolE 2 >>> import zipfile
21pf11e. H=h |- |— -I | >>> comp = zipfile.ZipFile( 'new.zip', 'w')
ijFﬂe(); %"%EI— L_LI-%! %‘7| >>> comp.write('image.png"')
~ — >>> comp.close()
write(): 255 IH 0| 27|
extractallO:X._"Xﬂ Ol:ll-:j':_ _6HX'” >>> decomp = zipfile.ZipFile( 'new.zip', 'r’)
_OF== TLO| C} >>> decomp.extractall( new’)
CIOSQ(). 25 I B >>> decomp.close()
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